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Question Number : 101 Question Id : 5402503036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Parthenogenes;is does not occur in :
(1) Rotifers

(2) Honeybees

(3) Lizards

(4) Mammals
Options:

54025012141.1
54025012142. 2
54025012143. 3

54025012144. 4

Question Number : 101 Question Id : 5402503036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
(1) TSIHE |
(2) wAyHfFRTAl H
(3) Tousfai |
(4) T H
Options :

54025012141. 1
54025012142. 2
54025012143. 3

54025012144. 4

Question Number : 102 Question Id : 5402503037 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Out of the following which one is not a hermaphrodite ?
(1) Sponge
(2) Earthworm
(3) Leech
(4) Cockroach
Options:
54025012145, 1
54025012146. 2
54025012147. 3

54025012148. 4

Question Number : 102 Question Id : 5402503037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
frefafead 9 | & T svafert T8 87
(1) w6

(2)

(3) il

(4) Tae=rga

Options:



54025012145. 1
54025012146. 2
54025012147.3

54025012148. 4

Question Number : 103 Question Id : 5402503038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II
(A) Polyembryony (I) Apple
(B) Parthenocarpy (II) Female gametophyte
(C) False Fruit (III) Orange
(D) Embryo Sac (IV) Banana

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(1), (C)-(I), (D)-IV)
!

(2) (A)-ID, (B)-(IV), (O-(I), (D)-(I)
(3)  (A)-(D), (B)-(IV), (O)-(IM), (D)-(ID)
(4) (A1), B)-(1V), (O-I), (D)-0)
Options:

54025012149. 1
54025012150. 2
54025012151. 3

54025012152. 4

Question Number : 103 Question Id : 5402503038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
eAl-1 9 Get-11 1 et ifs;
ef I
(A) SEYURI O F
(B) sifuesifd (II) HIET RGeS,
(C) YHEl e (I g
(D) U1 IY (IV) el

=4 fou T4 fosredi 4 9 W&l 3T F1 999 Hifo

(1) (A)-(L), (B)-(I), (O)-(11), (D)-(1V)
(2)  (A)-(I), (B)-(1V), (O)-(), (D)-(IT)
3)  (A)-(D), (B)-(IV), (O)-(IL), (D)-(II)
(4)  (A)-(ID), (B)-(IV), (O)-(IT), (D)-(D)
Options:

54025012149. 1
54025012150. 2
54025012151. 3

54025012152. 4

Question Number : 104 Question Id : 5402503039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following stages of development of a dicot embryo in the order of their occurrence :
(A) Formation of heart shaped embryo

(B) Formation of typical dicot embryo

(C) Formation of zygote

(D) Formation of globular embryo

Choose the correct answer from the options given below :

(1) (4) ). ), D)

(2) Q. D), () B)
) (O (A). (), (D)
(4) (D), (4), (8). ()
Options:

54025012153. 1
54025012154. 2
54025012155. 3
54025012156. 4

Question Number : 104 Question Id : 5402503039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025012153. 1
54025012154. 2
54025012155. 3
54025012156. 4

Question Number : 105 Question Id : 5402503040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Select the hormone which is not secreted by human placenta ?
(1) Estrogen

(2) Progestogen

(3) Human chorionic gonadotropin

(4) Luteinising hormone

Options:

54025012157. 1



54025012158. 2
54025012159. 3

54025012160. 4

Question Number : 105 Question Id : 5402503040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

39 BHE 1 T4 hifT S 379 gRI Hifad &1 el -
(1) TEISH
(2) URRESH
(3) MG SR MK
(4) wgfeEfST aHE
Options:
54025012157. 1
54025012158. 2
54025012159. 3

54025012160. 4

Question Number : 106 Question Id : 5402503041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Select the correct statements regarding menstrual cycle in human female :
(A) The first menstruation begins at puberty and is called menopause.

(B)  The ovulation takes place i the middle of cycle (about 14™ day), when the level of progesterone
is at maximum level

(C) Inabsence of fertilisation, the corpus luteum degenerates which causes the disintegration of
endometrium leading to menstruation.

(D) Inhuman beings, menstrual cycle ceases around 50 years of age.
Choose the correct answer from the options given below :

(1) (A)and (B) only

B) and (D) only

Options:

54025012161.1
54025012162. 2
54025012163. 3

54025012164. 4

Question Number : 106 Question Id : 5402503041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025012161. 1
54025012162. 2
54025012163. 3

54025012164. 4

Question Number : 107 Question Id : 5402503042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the terminal method used to prevent pregnancy is :
(1) Lactational amenorrhea

(2) Sterilisation

(3) Intra Uterine Device

(4) Periodic abstinence



Options:

54025012165. 1
54025012166. 2
54025012167. 3

54025012168. 4

Question Number : 107 Question Id : 5402503042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

AT 3R TvTaEen FE1 S8 & TR HIeH &1 YgdH Hifau ;
(1) EF9H AT

(2) SEHERTT

(3)  3a: TvieER e

(4) ofafd By
Options :

54025012165. 1
54025012166. 2
54025012167. 3

54025012168. 4

Question Number : 108 Question Id : 5402503043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Match List - I with List - I1.

List - I List - II
(A) Lippes loop (I)  Barrier
(B) Vaults (II) Hormone releasing device
(C) Periodic abstinence  (III) Non medicated [UDs
(D) Progestasert (IV) Natural method

Choose the correct answer from the options given below :
(1) (A)-D, (BRI, (O-IV), (D)D)

(2) (A1, (B)-(ID), (O)-IV), (D)-[O)

(3) (A, (B)-(D), (C-1V), (D)-(I)

(4) (A, (B)-(D), (C-1D, (D}(IV)

Options:

54025012169. 1

54025012170. 2

54025012171. 3

54025012172. 4

Question Number : 108 Question Id : 5402503043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A1), (B)-(III), (O)-(IV), (D)-(II)

(2) (A)-(ID), (B)-(I), (O)-(IV), (D)-(I)

(3)  (A)-(II), (B)(I), (C)-(IV), (D)-(II)

(4)  (A)-(II), (B)-(I), (O)-(1D), (D)-(IV)

Options :

54025012169. 1
54025012170. 2
54025012171. 3

54025012172. 4

Question Number : 109 Question Id : 5402503044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following steps of experiments performed by Griffith in correct series,
(A) ‘S strain — injected into mice — Mice died

(B) S strain (Heat killed) — injected into mice — Mice lived

(C) R’ strain — injected into mice — Mice lived

(D) ‘S strain (Heat killed) + 'R’ Strain (Live) — injected into mice — Mice died
Choose the correct answer from the options given below :

(1) (&) ®),(©. 0

2) () A © 0

3) () (©). O) @)
4) (&) © ), O)
Options:
54025012173. 1
54025012174. 2
54025012175. 3

54025012176. 4

Question Number : 109 Question Id : 5402503044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A), (B), (©). (D)
(), (A). ©, (D
(B). (C), ), (A)
) (4). (O, (B), D)

Options:

)

1)
2)
(3)
(4

54025012173. 1
54025012174. 2
54025012175. 3
54025012176. 4

Question Number : 110 Question Id : 5402503045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a Mendelian Disorder ?
(1) Haemophilia

(2) Sickle-cell anaemia

(3) Down’s Syndrome

(4) Phenylketonuria

Options:
54025012177. 1



54025012178. 2
54025012179. 3

54025012180. 4

Question Number : 110 Question Id : 5402503045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefafad § 9 #F & Hedy fasr 7@ 272
(1) EHriRfer

(2) ST ShITTERT ST

(3) =BT fHgm

(4) fFEa SRER
Options :

54025012177.1
54025012178. 2
54025012179. 3

54025012180. 4

Question Number : 111 Question Id : 5402503046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL.
List - I List - II

(A) Metabolic Disorder (I) ~ Family tree over generation
(B) Pedigree analysis (I) Blood disease

(C) Thalassemia (III) Phenylketonuria

(D) Trisomy of 215 chromosome (IV) Down’s Syndrome

Choose the correct answer from the options given below :

(1) (A)MI), B)-IV), C(I), D)0
(2)  (A)-(D), (B)-(ID), (O)-(I), (D)-(IV)
(3)  (A)-(I), B)-(D), (O-(I), (D)-(IV)
(4) (A, (B-L), (C)-(1V), (D)-(1)

Options:

54025012181. 1
54025012182. 2
54025012183. 3
54025012184. 4

Question Number : 111 Question Id : 5402503046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A, B)-IV), ©)-(I), (D)-0)

(2) (A1), (B}-(II), (C-(ID), (D)-(IV)

(3) (A, (B)-(D), (C-I), (D)-IV)

(4) (A, (B)-(I), (C)-(IV), (D)-(0)

Options :

54025012181. 1
54025012182. 2
54025012183. 3

54025012184. 4

Question Number : 112 Question Id : 5402503047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identify the statements true for RNA.

(A) RNA acts as a genetic material for some viruses.

(B) RNA also functions as an adapter molecule.

(C) RNA has hexose sugar as its backbone.

(D) RNA also acts as catalyst in some cases.

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2)  (A), (B) and (D) only
(3) (B), (C) and (D) only
(4)  (A), (C) and (D) only
Options :

54025012185. 1

54025012186. 2

54025012187. 3

54025012188. 4

Question Number : 112 Question Id : 5402503047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) *ad (A), (B) ¥R (C)

(2) ad (A), (B) 3T (D)

(3) dd (B), (C) ¥ (D)

(4) e (A), (C) ¥R (D)
Options :

54025012185. 1
54025012186. 2
54025012187.3

54025012188. 4

Question Number : 113 Question Id : 5402503048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL.

List - I List - II
(A) Ribosome (I)  Replication
(B) Histone (I) Transcription
(C) DNA polymerase (IlI) Translation
(D) RNA polymerase (IV) Nucleosome

Choose the correct answer from the options given below :
(1) (A)-0), B)-), (OI), (D)-(IV)

(2)  (A)-(ID), (B)-(I), (O)-(IM), (D)-(IV)
(3)  (A)-(D), (B)-ID), (CO)-IV), (D)-(I)
(4)  (A)-1D, B)-(1V), (O-(1), (D)-(I1)
Options:

54025012189. 1
54025012190. 2
54025012191. 3
54025012192. 4

Question Number : 113 Question Id : 5402503048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A)-1), (B)-(I), (O)-(11), (D)-(1V)
(2)  (A)-(0), (B)-I), (O)-(I), (D)-(IV)
(3)  (A)-(), (B)-(1D), (O)-(IV), (D)-(II)
(4) (A, (B)-(IV), (O)-(D), (D)-(IT)
Options:

54025012189. 1
54025012190. 2
54025012191. 3

54025012192. 4

Question Number : 114 Question Id : 5402503049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

In DNA N-glycosidic linkage is present between
(1) Pentose sugar and Phosphate group

(2) A nitrogenous base and a Pentose sugar
(3) Two nitrogenous bases

(4) Two pentose sugars



Options:

54025012193. 1
54025012194. 2
54025012195. 3

54025012196. 4

Question Number : 114 Question Id : 5402503049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
BT | N-TARHEEeH Jgerdl & 9 918 S 8§

(1) U=2IS kY SR R T8
(2) T TE2SHE &R 3R TF T= 0
(3) TR &
(4) IS TSI
Options:
54025012193. 1
54025012194. 2
54025012195. 3

54025012196. 4

Question Number : 115 Question Id : 5402503050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Identify the factor which does not affect the Hardy-Weinberg equilibrium ?
(1) Genetic drift

(2
(3
(4

) Natural selection

) Genetic recombination
) Genetic equililbrium
Options:

54025012197. 1
54025012198. 2
54025012199. 3

54025012200. 4

Question Number : 115 Question Id : 5402503050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

39 HN ki TEIH RIS Sl BIET-oTer Fredl bl GHferd Tal il :
(1) AafRmeR foreeH
(2) TRHfAR 3
(3) STeifeeR T
(4)  STEeER Hre
Options:
54025012197.1
54025012198. 2
54025012199. 3

54025012200. 4



Question Number : 116 Question Id : 5402503051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Single step large mutation leading to speciation is also called :
(1) Founder effect

(2) Saltation

(3) Branching descent

(4) Natural selection

Options:

54025012201. 1

54025012202. 2
54025012203. 3

54025012204. 4

Question Number : 116 Question Id : 5402503051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fd Sqa o fore faener Scafiad &1 aIS1 e Fgard © :
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(2) HIEIHA

(3) VRS STaRE

(4) FEpld



Options:

54025012201. 1
54025012202. 2
54025012203. 3
54025012204. 4

Question Number : 117 Question Id : 5402503052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Paleontological evidences for evolution refers to :
(1) Development of embryo
I—ic}moiugﬂus Organq

(2)
(3) Fossils
(4) Analogous Organs
Options:
54025012205. 1
54025012206. 2
54025012207. 3

54025012208. 4

Question Number : 117 Question Id : 5402503052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) Yo k1 foehrd
(2) HHESI HT
(3) Silered

(4) wHIR S
Options :

54025012205. 1
54025012206. 2
54025012207. 3
54025012208. 4

Question Number : 118 Question Id : 5402503053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II
(A) Lymphoid Organ (I) ELISA
(B) Cancer (I) Widal Test
(C) HIV (II) Bone marrow and Thymus
(D) Typhoid (IV) Carcinogens

Choose the correct answer from the options given below :
(1) A-V), (B)m(ﬂ) (©)-Q1), (D)-(IL)
(2)  (A)-D, B)-(IV), (O-1), (D)-I)
(3) (AL, B)-), (©-V), (D)-0)
(4) (A1), B}, (C}(1L), (DHIV)

Options:



54025012209. 1
54025012210. 2
54025012211.3

54025012212. 4

Question Number : 118 Question Id : 5402503053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

i1 | geit-11 1 fHer sifs;
TEit-1 TEll-11

(A) THIHH 3T () TAREST (ELISA)

(B) <X (1) faem S

(C) HIV (II1) AT HosT ST A3HY
(D) ZEHES (IV) hEst

= fou Tu fahedi H ¥ Wal 3T 1 997 HifI ;

(1) (A)-(V), (B)-(1), (C)-(), (D)-(1LT)
(2)  (A)-(T), (B)-(IV), (O)-I), (D)-(IT)
(3)  (A)-(1), (B)-(ID), (C)-(IV), (D)-(I)
(4)  (A)-(), (B)-(II), (CO)-(1D), (D)-(IV)
Options:

54025012209. 1
54025012210. 2
54025012211.3
54025012212. 4



Question Number : 119 Question Id : 5402503054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The statements are not true for allergy :

(A) Allergy is due to release of chemicals like histamine and serotonin
(B) Allergens are the subtances which cause allergy

(C) The antibodies produced due to allergens are IgA type

(D) Adrenalin and steroids quickly enhance the symptoms of allergy
Choose the correct answer from the options given below :

(1) (C)and (D) only

(2) (A)and (C) only

(3) (A)and (B

@

Options:

) only
B) and (D) only

54025012213. 1
54025012214. 2
54025012215. 3
54025012216. 4

Question Number : 119 Question Id : 5402503054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




fereifeafiad o & -8 e want & for oe 76 82

(A) TS feeedi iR TR S W@ % He 9 2 2

(B) o Ve, sk hme Tersil 2t &, Uersi Fga &

(C) TeTsM o R0 S a1 TieRef IgA TR 2W € |

(D) TEMfeH 3R WIEE! % WA § Terst o Jema § oft ¥ 9fg 2t &

—

Options:

54025012213.1
54025012214. 2
54025012215. 3

54025012216. 4

Question Number : 120 Question Id : 5402503055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL
List - I List - II
(Causal Agent) (Disease)
( (I)  Typhoid
(B)  Streptococcus pneumoniae  (II) Pneumonia
(C) Rhino Viruses (I
(D) Plasmodium (IV) Malaria

A)  Salmonella typhi
IITI) Common cold

Choose the correct answer from the options given below :
(1) (AAD), (BRI, (O-I), (D}-(IV)

(2) (A, (B)-(D), (O)-(I1), (D)-(IV)
(3)  (A)(D), (B)-IT), (C)-IV), (D)-(II)
(4) (A, (B)-(1V), (C)-(), (D)-(II)
Options:

54025012217.1
54025012218. 2
54025012219. 3

54025012220. 4

Question Number : 120 Question Id : 5402503055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




oAI-1 9 Get-11 1 et i

M | =11
(TR FaTsia) (¥
A) GITHIAET 2T5H ) <EHES

D) wWIRHISTH (IV) Heifen
= feu U fasredi § 9 98 3T &1 999 S ;
(1)  (A)-(1), (B)-(II), (O)~(11I), (D)-(1V)

(2) (A)-1D), (B)-(1D), (O-(11), (D)-(IV)

(3) (A)-D), (B)-(I), (O-(IV), (D)~(III)

(4) (A1), (B)-(IV), (O)-(D), (D)-(IT)

Options:

54025012217.1
54025012218. 2
54025012219. 3

54025012220. 4

Question Number : 121 Question Id : 5402503056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following crop was made resistant to yellow mosaic virus and powdery mildew by
mufation breeding ?

(1) Cowpea
(2) Flat bean
(3) Mung bean
(4)  Brassica
Options :
54025012221. 1
54025012222. 2
54025012223. 3

54025012224. 4

Question Number : 121 Question Id : 5402503056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

freis & 4 -5 v T Ao e a9 o % o, St T g v
e o 1 % 7

{
)
3
!

1313

)
2
()
(4
Options:
54025012221. 1
54025012222. 2

54025012223. 3

54025012224. 4



Question Number : 122 Question Id : 5402503057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II

(A) Sterilized plant part ()  Pomato

(B) Genetically similar plants  (II) Virus free culture
(C) Meristem (IIT) Somaclones

(D) Somatic hybrids (IV) Explant

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-1), (O~(1L), (D)-I1V)

(2)  (A)-(ID), (B)-(0), (O)-(Im), (D)-(IV)
(3)  (A)-(D), (B)-ID), (C)-(1V), (D)-(I)
(4)  (A)-(IV), (B)-(D), (O)-(I), (D)-(0)
Options:

54025012225. 1
54025012226. 2
54025012227. 3

54025012228. 4

Question Number : 122 Question Id : 5402503057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

geit-1 § Geit-11 1 foerm wifs;
1 Tell-11

(A) TFURET 9T HF ) W

(B) &l €W GHFE G (1)  foury] gea daEq
(C) Tawsdras (1) HHEAN

(D) =HIfaw HaL (IV) dides

= feu U fomedl § 9 9@l 3T H1 999 HIfU :

(1)  (A)-(I), (B)-(II), (O)-(III), (D)-(IV)

(2) (A1), (B)-(I), (O-(II), (D)-(IV)

(3) (A1), (B)-(I), (C)-(IV), (D)-(II)

(4) (A)-(IV), (B)-(11), (O)-(11), (D)-(I)

Options :

54025012225. 1
54025012226. 2
54025012227.3
54025012228. 4

Question Number : 123 Question Id : 5402503058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Sonalika and Ratna respectively are ‘High Yielding Varieties’ (HYV) of :
(1) Wheat and Rice

(2) Rice and Wheat

(3) Maize and Rice

(4) Wheat and Millet

Options:

54025012229. 1

54025012230. 2

54025012231. 3

54025012232. 4

Question Number : 123 Question Id : 5402503058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Hiifereht X T, FHH: H1 3= 30 e (HYV) € -
(1) 3R o

(2) R SRIAE

(3) R R gH

(4) g SR (o)

Options :

54025012229. 1
54025012230. 2
54025012231.3
54025012232. 4

Question Number : 124 Question Id : 5402503059 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not a nitrogen fixing micro organism ?
(1)  Azotobacter

(2)  Oscillatoria

(3) Acetobacter

(4) Nostoc
Options:

54025012233. 1
54025012234. 2
54025012235. 3
54025012236. 4

Question Number : 124 Question Id : 5402503059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefafaa 5 9 [ T A1gener Redeuer Yau Sia & ¢ 7
(1) ST

(2) STgEEIREr
(3) UHleIHFRT
(4) TEF

Options:



54025012233. 1
54025012234. 2
54025012235. 3
54025012236. 4

Question Number : 125 Question Id : 5402503060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The large holes in “Swiss Cheese’ are due to:
(1) Production of large amount of O,
(2) Citric acid
(3) Production of large amount of CO,
(4) Ethyl alcohol
Options:
54025012237. 1
54025012238. 2
54025012239. 3

54025012240. 4

Question Number : 125 Question Id : 5402503060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




g =it ff?§§§1%§§ % RV B ¢ :
(1) sifersk 91 § O, IcrEH

(2) THfze v

(3) 3frsk "B H CO, ST

(4

) Ufurel Tohigd

Options:

54025012237. 1
54025012238. 2
54025012239. 3

54025012240. 4

Question Number : 126 Question Id : 5402503061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a cyanobacteria ?
(1) Nostoc
(2) Glomus
(3) Anabaena
(4) Oscillatoria
Options:
54025012241, 1
54025012242. 2
54025012243. 3

54025012244. 4

Question Number : 126 Question Id : 5402503061 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
frefafaa & 9 %M vF deAeeEiiE 76 82
(1) FEF
(2) TEHY
(3) G
(4) STHIE2IRTT
Options :

54025012241. 1
54025012242. 2
54025012243. 3

54025012244. 4

Question Number : 127 Question Id : 5402503062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Agarose, a gel used as matrix in gel electrophorises is a natural polymer which is extracted

f

(1) Soya bean
(2) Sea weeds
(3

(

)
) Sea anemone
4

Sea corals



Options:

54025012245. 1
54025012246. 2
54025012247.3

54025012248. 4

Question Number : 127 Question Id : 5402503062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ST ST W A o B W A Fo ST a1 WahToeh e, U e, el i 2
e

Options:

54025012245. 1
54025012246. 2
54025012247.3

54025012248. 4

Question Number : 128 Question Id : 5402503063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

The first instance of construction of an artificial recombinant DNA molecule was carried out on
the plasmid of ;

(1) Bacillus thuringiensis
2)  Escherichin coli
3

(
(
¢

)
) Agrobacterium umefnmns
) Salmonella typhimurium

Options:

54025012249. 1
54025012250. 2
54025012251. 3

54025012252. 4

Question Number : 128 Question Id : 5402503063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
YoM M TR € T T % A T H O ol

Options:

54025012249. 1
54025012250. 2
54025012251. 3

54025012252. 4



Question Number : 129 Question Id : 5402503064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Antibiotic resistance gene in a vector helps in the selection of :
(1) Recombinant cells
(2) Transformed cells
(3) Competent cells
(4) Totipotent cells
Options :
54025012253. 1
54025012254 2
54025012255. 3

54025012256. 4

Question Number : 129 Question Id : 5402503064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




forelt Hame | Wiaafask A&t S % I H HErdl H ¢
(1) fo R
(2) EYHS IR
(3) WM VA
(4) R T
Options:
54025012253. 1
54025012254. 2
54025012255. 3
54025012256. 4

Question Number : 130 Question Id : 5402503065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the gene which is not effective against cotton boll worms ?
(1) crylAb
2

(2) crylAc
(3
(

)
) cryllAb
)

4) Both (2) and (3)

Options:

54025012257. 1
54025012258. 2
54025012259. 3
54025012260. 4

Question Number : 130 Question Id : 5402503065 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

39 W &1 TEAH HITC S R & Gl FH & faeg Jome T4 82
(1) crylAb

(2) erylAc

(3) cryllIAb

(4) @ E)

Options:

54025012257. 1

54025012258. 2

54025012259. 3
54025012260. 4

Question Number : 131 Question Id : 5402503066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The process of RNA interference (RNAi) was used in Tobacco plant to develop resistance
against :

() Viruses

(2) Fungi
3
(

)
) Nematodes
g

Insects

Options:



54025012261. 1
54025012262. 2
54025012263. 3

54025012264. 4

Question Number : 131 Question Id : 5402503066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e o e o 91 S i 0 6 forw o O 0 iy o ) o
1) o

)
) T
) #R

Options:

Lo

=

(4
54025012261. 1
54025012262. 2
54025012263. 3

54025012264. 4

Question Number : 132 Question Id : 5402503067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Common term used to refer the use of bio-resources by multinational companies and other
organisations without proper authorisation and compensatory payment fo the countries and people
concerned is ;

(1)  Bio-informatics
(2) Biopiracy
(3) Biopatenting
(4) Biological theft
Options:
54025012265. 1
54025012266. 2
54025012267. 3

54025012268. 4

Question Number : 132 Question Id : 5402503067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

) TG U 3 G G g fo T 71 S et v & for oyt oy 4 fo
T 6 3 S h S h e, e cret

(1) s e

() T

(3) A T (Sf)

(4) 5 o

Options :

54025012265. 1
54025012266. 2
54025012267.3
54025012268. 4



Question Number : 133 Question Id : 5402503068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Out of following plants, which one is not browsed by cattle :
(1) Wheat

(2) Cowpea

(3) Sugar cane

(4)  Calotropis
Options :

54025012269. 1
54025012270. 2
54025012271.3

54025012272. 4

Question Number : 133 Question Id : 5402503068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




frefeafad qiel § 9 ggsil gra fereen = &1 fohan Siran?
(1)

(2) @rfe
(3)
(4) Feaifrg
Options :

54025012269. 1
54025012270. 2
54025012271.3

54025012272. 4

Question Number : 134 Question Id : 5402503069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Fresh water animals cannot live for long in sea water and vice versa as they face :
(1) Temperature variations

2
3
4

(2) Tidal waves

(3) Predators

(4)  Osmotic problems
Options :
54025012273. 1
54025012274 2
54025012275. 3

54025012276. 4

Question Number : 134 Question Id : 5402503069 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ST it i %l S % R T N 3 Tl W el & 9 e 9 4 %
maﬁWWW%:
9 H o o

Options:

54025012273. 1
54025012274.2
54025012275. 3

54025012276. 4

Question Number : 135 Question Id : 5402503070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The natural interconnections of food chain is :
(1) GEFC
2 DFC

(2)
(3) Food web
(4) Biomass



Options:

54025012277.1
54025012278. 2
54025012279. 3

54025012280. 4

Question Number : 135 Question Id : 5402503070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

W 9@l & YiFfde siaugss g
(1) GFC

(2) DFC

(3) @RI S

(4)  SIEHTE

Options:

54025012277. 1
54025012278. 2
54025012279. 3

54025012280. 4

Question Number : 136 Question Id : 5402503071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Which of the following statements are incorrect regarding food chain ?

(A) Primary carnivores are the tertiary consumers

(B) The flow of energy form the sun to producers and then to consumers is unidirectional
(C) The death of the organism is the initation of detritus food chain

(D) Plantare the primary consumers as they utilise the solar energy for making food
Choose the correct answer from the options given below :

(1) (A)and (B) only

(2) (A)and (D) only

(3) (B)and (C) only

(4) (C)and (D) only

Options :

54025012281. 1

54025012282. 2

54025012283 3

54025012284. 4

Question Number : 136 Question Id : 5402503071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




@ 4G % AR H H-HH Y F I § 7

(A) T HiETER, A Susa

(B) T IeCEH T S A W SYHNGH T It okl VTG O fe BN
(C) foelt ftar it T § STIRE W el 71 JR B

(D) O wfirr Susiirn € ifer & o T 3ol 1 ST S o B o
e fou U faemedi § ¥ WE W H1 I HiforC ;

Options:

54025012281.1
54025012282. 2
54025012283. 3

54025012284. 4

Question Number : 137 Question Id : 5402503072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The historic convention on Biological Diversity held in Rio de Janeiro in 1992 s also called :
(1) The World Summit

2
3
4

) MAB Programme
) The Earth Summit
) G-16 Summit

(
(
(

Options:



54025012285. 1
54025012286. 2
54025012287. 3
54025012288. 4

Question Number : 137 Question Id : 5402503072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

1992 # feaifestl ¥ Sifo fafaeran 1 Wfaeifod: e ol el 3|
(1) fava wer
(2) THUH FRH
(3) Yol W

(4) G- 16 T
Options :
54025012285. 1
54025012286. 2
54025012287. 3

54025012288. 4

Question Number : 138 Question Id : 5402503073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following area is India’s one of the biodiversity hot spots ?
(1) Eastern Ghats

(2
(3
(

) Indo-Burma Plains
) Aravali Hills
)

4 Indo—Gangetic Plains

Options:

54025012289. 1
54025012290. 2
54025012291. 3

54025012292. 4

Question Number : 138 Question Id : 5402503073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fr=fafiad o sF-91 & IRa &1 39 fafasa glemie ¥ smar g ?
(1) et =
(2) Se-sH HeH
(3) SWEEH Taifedm
(4) FE-TifeE HeH
Options :
54025012289. 1
54025012290. 2

54025012291. 3
54025012292. 4

Question Number : 139 Question Id : 5402503074 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Dobson Units (DU) are used to measure :
(1) Biodiversity index

(2) Thickness of ozone layer

(3) Sustainability index

(4) Thickness of canopy in rainforest
Options:

54025012293. 1

54025012294. 2
54025012295. 3

54025012296. 4

Question Number : 139 Question Id : 5402503074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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54025012293. 1
54025012294. 2
54025012295. 3

54025012296. 4

Question Number : 140 Question Id : 5402503075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is NOT a category of waste generated by human beings in daily practice ?
(1) Radio-active waste

(2) Bio-degradable waste

(3) Plastic waste

(4)  Non-biodegradable waste

Options:

54025012297. 1

54025012298. 2

54025012299. 3

54025012300. 4

Question Number : 140 Question Id : 5402503075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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54025012297. 1
54025012298. 2
54025012299. 3
54025012300. 4

Sub-Section Number : 2
Sub-Section Id : 540250201
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 141 Question Id : 5402503076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the given paragraph and answer the given question :

Parasitism has evolved in many taxonomic groups from plants to higher vertebrates. Many parasites
have evolved to be host specific in such a way that both host and the parasite tend to co-evolve, In
accordance with their life styles, parasite evolve special adaptations and complex life cycle,

Complex life cycle of parasites mean

(1) Having only one intermediate host

(2) Having special adaptations to cling on to the host

(3) Having many hosts

(4)  Having one or two intermediate hosts to facilitate parasitisation of its primary host
Options:

54025012301. 1

54025012302. 2

54025012303. 3

54025012304. 4

Question Number : 141 Question Id : 5402503076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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54025012301. 1
54025012302. 2
54025012303. 3
54025012304. 4

Question Number : 142 Question Id : 5402503077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the given paragraph and answer the given question :

Parasitism has evolved in many taxonomic groups from plants to higher vertebrates. Many parasites
have evolved to be host specific in such a way that both host and the parasite tend to co-evolve, In
accordance with their life styles, parasite evolve special adaptations and complex life cycle,

Parasites harm the host by :

(1) Reducing its size

(2) Improving its growth and reproduction

(3) Reducing its survival, growth, reproduction and population density
(4)  Improving its survival, growth and reproduction

Options:

54025012305. 1

54025012306. 2

54025012307. 3

54025012308. 4

Question Number : 142 Question Id : 5402503077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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54025012305. 1
54025012306. 2
54025012307. 3
54025012308. 4

Question Number : 143 Question Id : 5402503078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the given paragraph and answer the given question :
Parasitism has evolved in many taxonomic groups from plants to higher vertebrates. Many parasites

have evolved to be host specific in such a way that both host and the parasite tend to co-evolve, In
accordance with their life styles, parasite evolve special adaptations and complex life cycle.

Match List - I with List - IL

List -1 List - II
(A) Cuckoo and Crow (
(B) Copepods (
(C)  Plasmodium (
(D) Orchids and Mango tree  (IV) Endoparasite

) Ectoparasite
I) Commensal Organism
1) Brood Parasitism

Choose the correct answer from the options given below :

(1) (AM{ID, (B{TD) C-{0, (DHIV)
(2) (AMI), (B0, (C-1V), (DH)
(8) (AV{ID, (B0, (C}{I), (DHIV)
(4) (A}{D), (BHID, (C-1V), (DH)
Options:

54025012309. 1
54025012310. 2
54025012311. 3
54025012312. 4

Question Number : 143 Question Id : 5402503078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Frerfeian ade it g feU 0 9 o 3 |

Sl 1 01 Wl 8 ol e ARl % 30 A ey W) H o €
et el-fofme < 0 58 e el 0 2 o ot it st ) -T2 ekl
e et o S el fo S &R et e o fofig f )

ollL 8 el 9 foeft i

Tt Tl

(A) R R () %l i
(B) e IERE
() wiwHfsTm () &3 e
(D) e &R M 34 (V) ¥ Tl
el o T fomcl % ) 9 A1 o ¢
(1) (AM{ID), (B}ID) (C1-1), (DHIV)
(2) (M), (B)-(), (CHIV), (DI
(3) (M), (B)-0) (CHI), (DHLV
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Options :

54025012309. 1
54025012310. 2
54025012311.3
54025012312. 4

Question Number : 144 Question Id : 5402503079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the given paragraph and answer the given question :
Parasitism has evolved in many taxonomic groups from plants to higher vertebrates. Many parasites

have evolved to be host specific in such a way that both host and the parasite tend to co-evolve, In
accordance with their life styles, parasite evolve special adaptations and complex life cycle.

Identify the statements which are not true with respect to host parasite relationship.

(A) Hostand parasite tend to co-evolve.

(B

(C) It the host evolves to reject the parasite, the parasite also evolve to counteract them in order
to be successtul with the same host species.

—_—

Parasite have evolved elaborate nervous system for survival.

(D) I the host evolves special mechanisms for rejecting the parasite, the parasite evolves to be
successful in the another host species.

Choose the correct answer from the options given below :
(1) (A)end (B) only
() and (D) only

Options:

54025012313. 1
54025012314. 2
54025012315. 3
54025012316. 4

Question Number : 144 Question Id : 5402503079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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54025012313. 1
54025012314. 2
54025012315. 3
54025012316. 4

Question Number : 145 Question Id : 5402503080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the given paragraph and answer the given question :

Parasitism has evolved in many taxonomic groups from plants to higher vertebrates. Many parasites
have evolved to be host specific in such a way that both host and the parasite tend to co-evolve, In
accordance with their life styles, parasite evolve special adaptations and complex life cycle,

What are the intermediate hosts for human liver fluke ?
(1) Snail and Fish

(2) Snail and fresh water mussel
(3) Fish and Man

(4) Snal and Man

Options:

54025012317. 1
54025012318. 2
54025012319. 3

54025012320. 4

Question Number : 145 Question Id : 5402503080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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54025012317.1
54025012318. 2
54025012319. 3
54025012320. 4

Sub-Section Number : 3
Sub-Section Id : 540250202
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 146 Question Id : 5402503081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Observe the diagram and answer the given question.

v sl s g :

and Dolomite LT L=~

Vot e A W

-(}eous
sediments

i L A S
.

Which of the following does not constitute the underground store of carbon ?
(1) Limestone and Dolomite

(2) Oiland Gas
(3) Coal

4 €0,
Options :
54025012321. 1
54025012322. 2
54025012323.3

54025012324. 4



Question Number : 146 Question Id : 5402503081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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54025012321. 1
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Question Number : 147 Question Id : 5402503082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Observe the diagram and answer the given question.

v sl s g :

and Dolomite LT L=~

Vot e A W

-(}eous
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.

Which of the following activities decrease the amount of CO, in atmosphere ?
(1)  Respiration

(2) Photosynthesis

(3) Burning of forests

(4) Combustion of fossil fuels

Options:

54025012325. 1

54025012326. 2

54025012327. 3

54025012328. 4



Question Number : 147 Question Id : 5402503082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Observe the diagram and answer the given question.

S
»’

 Delri

I'JT
and Dolomite ]|

T S

| s

Which of the following is another name given to nutrient cycling ?
(1) Biological Cycle

(2) Biogeological Cycle

(3) Biogeochemical Cycle

(4)  Biochemical Cycle

Options:

54025012329. 1

54025012330. 2

54025012331. 3

54025012332. 4



Question Number : 148 Question Id : 5402503083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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54025012329. 1

54025012330. 2

54025012331. 3
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Observe the diagram and answer the given question.

gy e G
mite ] | L~
o

The amount of carbon dioxide in the atmosphere is regulated by which of the following ?
(1) Plants

(2) Animals

(3) Oceanic reservoir of Carbon
(4)  Burning of fossil fuels
Options:

54025012333. 1
54025012334. 2
54025012335.3

54025012336. 4



Question Number : 149 Question Id : 5402503084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension Comp2
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Observe the diagram and answer the given question.

e
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The amount of nutrients such as carbon efc. present in soil at any specific time is referred to as :
(1) Standing Rate

(2) Standing State

(3) Nutrient Rate

(4) Nutrient Value

Options:

54025012337. 1

54025012338. 2

54025012339. 3

54025012340. 4
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